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Acids,bases and Salts
1. 2,00 Ty Box) Oe3,TF° @3& ed 68, WBIAITT, BT PH dfae)z@ A

solution turns red litmus into blue. its PH is likely to be *
A T
B. 4
C.5
D. 10

2. 2,03 T3 PB 78T Seed 0d pTHNWe 0l S DBDNE o3
DHT 39 TR, VPNWDIT. T93ed VB, w¥reolda. A solution reacts

with crushed egg-shells to give a gas that turns lime-water milky.The

solution contains *
A. NaCl
B. HCI
C. LiCl
D. KCI

3. 85 BYNIYNYO ooz @500 BRFNYY wieesrdad 83311 WHFIUHST

?Which one of the following types of medicines is used for treating
indigestion *
A. 2ex303pel3 Antibiotic

B. Seed)we33 Analgesic
C. a) 2oxb3 Antacid
D. So) Jwed3d Antiseptic

4. P,Q,R,S oo Jee, moens PH d)’aoémb e 7.8,1.0,13.0 = 1.4
NG, B TTeNPO @3503 D), &0, 0 TS DR TS
o369 Four solutions having pH value 7.8, 1.0, 13.0 and 1.4

respectively.among these which solution has more hydrogen ion

concentration. *
A P

B. Q
C.R
D. S



5. 200 FUSTIT SeITY B0 FTPBOMD BRI JJMW WdwITOY . &8
Jped DY DOegITN, WBT PH 52t 5’ oot 30m208@D. 85 Segrd,
0,000 HLBLRENTVTWT To0hS SowT In an fertile garden few kinds

of flowering plants are not grown.Then the soil of that garden tested ,it
shows PH value '5' .To cultivate this soil by using the chemical is *
A. JeeBabo Bed,w Sodium chloride

B. 3390 abo ;59,8 ;¢ Calcium hydroxide
C. adwedadre Urea
D. Toad JeJees® Copper sulphate

6..305° Jex’, M oo eeN generally tooth pastes are *
A. esead Acidic
B. 33 Neutral
C. Zzychead Basic
D. eviadbads Amphoteric

73O aFEhef IO T ado o eer® S res The property of calcium

phosphate present in teeth enamel is *
A. esvead Acidic

B. @39ead Basic
C. 3&3@@ Neutral
D. eveiadbads Amphoteric

8.QNYY e c‘.’)dozsa‘ @ég( B00dhen VBD3B Which among the following

conduct electricity *
A. éec;féef esedp,emoe® Ethyl alcohol

B. D% Qe Rain water
C. 8303 e distilled
D. asg30° Ether

9.3 NYY Jpw 8 ol ? Which among the following is strong acid is *
A. 3e335° esa) Acetic acid
B. 5%6659 &) Sulphuric acid
C. ?¢3z° e Citric acid
D

. £39E3950F° esdom Tartaric acid



10.359333 28330 evaE & adverda escd) The gas produced in the stomach of

human beings is *
A. 5@@)5836 &= Sulphuric acid

B. S,¢33° s Nitric acid
C. ®;d0,edpe08° e3a3) Hydro chloric acid
D. e’edzs® ey Acetic acid

11.Q3RYY J,;[8Ne8 Jewdd avex)cdd ? which one of the following is a natural

indicator *
A. egd e eseoes® Methyl orrange

B. dexdozdes® Phenolpthlein
C. 03¢ Turmeric
D. S0Ox° w9 Methylene blue

12.s2=bv’ad PH &52e), pH value of acid rain is *

A. 8.5
B. 7.8

C. 5.6 3,03 38D less than 5.6
D. 9.1 ‘9%03 £a12, more than 9.1

13. PH &5°0@ e¥3ab =9 The pH value range is *
A. 1 803 7 3331
B. 7 903 14 3331}
C. 0 ovod 14 333}
D. 14 dod 28 333}

14. 203 NBX wed) S BpBwnPODS 8 drek)xd ? Name the acid present in

the stinging hair of nettle leaves *
A. 3,3z esa Nitric acid
B. ez e Citric acid
C. D3Ieedhz® 8y Methonoic acid
D. ®,%0,e30e05° &) Hydro chloric acid

15. NaOH + HCl — NaCl + H20 @ adeas 0drt evmesmdesayeNd. This

equation is an example for *
A. 3e33¢e80¢ 08 Neutralization reaction

B. 3% 0h decomposition reaction



C. Jodou3 0dh Addition reaction

D.

Joadeent 308 Combination reaction

16. 2000 33 LB PH 3°¢) 239,303 As the pH value of a neutral

solution increases *

A

DS ead VZE SBDAIDHBH A OH- WAL Sosd B33
basic property decreases and number of OH - ions increases

. 80 VFE BIYHBT DA H+ odredry Josd; sBeDhalyerdSa acidic

property increases and number of H + ions decreases
D) Sead) VFE BIYTHBT DA OH- valyeRbnY Josd; B33 basic
property increases and number of OH - ions increases

. Beod O sBDAIHIT DI H+ vy Josl; 3T acidic

property decreases and number of H + ions increases.

17,6820 B2, RNW OO AT 8 B0RRINYRY 603 S TS,

When acids and bases dissolved in water ,these ions are formed *

A.
B.
C.
D.

Na+ &) Cl-eadyexbriwy Na+ and Cl-ions
Mg+2 @) SO04-2 e9adresbniwy Mg+2 and S04-2
H+ @@ H30+eadrexbriwd H+ and H30+ ions
arexyde o) None of the above

18. 8 ¢33 BB3DY) Jrey) eHA) YLODRY, YVOEDTTVTWBT. HB0TT, AW Ty

S This insect sting causes pain and irritation,because it secrets *

© 0o w >

&850 O3° &) Oxalic acid
Qe3z° esxd) Citric acid
®;030,e80e08° e3e) Hydro chloric acid

FoEd® e8x) Formic acid

19. @RPRL ArePHcd Tt Jewdd3e) One of the following is not an olfactory

indicator *



A. ey venilla
B. e&x3on Clove
C. éed)% Onion

D. @aséxf Litmus

20.231F0 are)ch eead res @eod. Which one of the following is acidic

in nature *
A. Qo3 33 Lime Juice

B. 59333 38 Human Blood
C. ﬁ»egcs 3 ded Lime water
D. esdommdos Antacid
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Metals and Non metals
1.330ea3 ddeed The Liquid state metal is *

A. B33 Mercury
B. &= Zinc

C. Jnedabo Sodium
D.

dR,ecx® Bromine

2.3 AedS 203 3333 edee®m The metal which is not react with hot water
is*

SR edabo Magnesium

eedodo Sodium

aéebwojoo Calcium

© 0w >

eﬂwaasc‘ib&’)oi)o Aluminium

3. deeENnY BINY B3 S3rdwen Dndabrdad ©de The gas released

when metals react with acids is *
A. H2
B. CO2
C. S02
D. NO2

4. dpexdd) 3,635 8T B3 FATIEITIN B30R,LBDT° BV
ABDRBANPVL. ©B0TT, Hydrogen gas not released when metal react with

nitric acid,because *
A. 3,638 8 womd Srw wud @3 Nitric acid is strong oxidizing agent

B. @,@0e27° R eV, A€ AT v 3 SethST. It oxidises hydrogen

and form water
C. S;edneaa’ 63, 8N vxdars o3, It reduces into nitrogen

oxide
D. SO ovFe All the above

5. Al,Na,K,Ca,Mg 8 tdeean¥s) dodredevdod JIoedod ©O3ab hade wiadna
J0abed 3 The correct sequential order of the metals of their increasing

reactivity series is *



A. Alk Mg<Ca<Na<K
B. K< Na<Ca<Mgc<Al
C. K<Mg<Ca<Na<AlI
D. Al<Na<Mg<ZCa

6. JpeBabood BRedR* 1 @tfzy, o TIMeedE WrerbPBO0T BVoEITHS 20T

The bond formed when an electron transferred from sodium to chlorine is *
A. 9095 203 lonic bond

B. ®,30,ea" wog Hydrogen bond
C. JzpJeedx)ead 003 covalent bond
D. @)dead 03 polar bond

7. draeammg( BE3 m%fﬁ?éagﬁ BB, 3D B4 ri)sadaig( —————— adg(ad).

The property of the metal which can be drawn into thin sheets is called *
A. 833 ductility

B. ®e3,3 malleability
C. drexneldde metallurgy

D. magé sonorous

8. @RYNLY eI PDE eséwécs‘ aexx)cd ? An amphoteric oxide is *

A. Al203
B. Fe203
C. CuO
D. MgO

9. B, TR, 83,5 vJYN DOB3ewa @,3ad The process by which
sulphide ore can be converted into oxide is *

A. ZDIB calcination

B. @®dandd Roasting

C. &)d)zs&daj'&a’ Electrolysis

D. Qe3¢ Refining

10. Fe203 + 2Al — 2Fe + Al203 s ﬁeﬁ)esde@dgd)d D3RS0 In this

equation reducing agent is *
A. Al203
B. Fe203
C. Al
D. Fe



11. TR MePADODLT SeTpdB RoMLT B, 638 ,tF 3 B3 I3edwen
LVOEIINAB BAD B33 When copper is react with atmospheric moistered

carbon dioxide a green layer is formed that green layer is *
A. To),3 Boedeers3ees® copper carbonate

B. @oa),3 deed, o copper chloride
C. ToB I,e3ee3® copper nitrate
D. @oa),3 &3 ;¥ copper oxide

12. DIeipedd 20w 638 SB0IDNGT B, ------ ORDBD. In an alloy

one of the constituent is mercury then it is called *
A. ex5ee)0 Amalgam

B. 3=t edeem welding metal
C. evdodhgxde amphoteric

D. Ja)®ee electrolyte

13. DB03T 9D Ore of the mercury is *

A. HgO
B. HgS
C. ZnS
D. ZnO

14. 3e” D) STTD0T B €3, DI)edeedd 0w svaadeen. Identify one of

the uses of the alloy which is made from the constituents of lead and tin *
A. WS So3nYRY WJTodbew uses to weld electrical wire

B. 3B33nY 3003 to manufacture medals
C. 374 ale evasdany 3adyed3 to manufacture surgical instruments
D. .d.3 ,@n¥ 3ared30b® to manufacture PVC pipes

15. @PneO eeod 638 ,a° MY MDA Identify the acidic oxides *

A. SO2,C02

B. MgO, Ca0

C. Na20, K20
D. Fe203, Al203

16. 391 Bpt3 DT I Ao PRI wBTRBDNG. The following substance

is an allotropic form of which element *



Sowea* Carbon
S;edreax’ Nitrogen
&3 2" Oxygen

AOZ* Silicon

o o w >

17. 8%90 203Ny B MY, 83000V Jeas Srerduarh3riode BRTD)

JI20B).ZaTes. Food cans are coated with tin not by Zinc.The reason is *

A. BB 338,038 Thr3ed Zinc is more expensive than tin

B. 323 30rha Dotdh 3T33,038 Ted) Melting point of Zinc is more than

tin
C. I3 B3T3,038 Tad), FodedewsoNd Zinc is more reactive than tin
D. 3D 333,03 3B FalredewmoNd Zinc is less reactive than tin

18. QPINYY aroYHmd ©dres® Joodwany meae). Which one of the following

property is not belongs to ionic compounds *
A. BYI 30 A BBVoNYRY, @BeodT. High melting and boiling

point
B. QeOR0 IOeI werb@a3. Dissolved in water

C. 0936080 Swwd ) xdaben VD3I, Conduct electricity
D. 88 30a SHd) DOVoDNRYY @eod. Low melting and boiling
point
19. ©3 BYR SIS BoOWLS theex The most ductile metal is *
A. &3 gold
B. 239, silver
C. @)y copper
D. 3¢ Iron

20.5 3B IFH0D0T 3RBTT deedd ey This image shows the

property of the metals is *



A. 833 ductility
B. @33 Malleability
C. @pYadwa e lustrous

D. magd sonorous
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Carbon and its compounds
1. 390X’ B3, @TeeN o 0l FopSed ead o7 (Bresdefoes® 203)

S e BIBROD YV FTSPD TBSODRY, HVOELDTTIWDES 39S The

property of carbon atom to form bond with atoms of carbon with the
help of covalent bond is called *
A. I3e0n3 Isomerism

B. 3t3ea0¢e3 Catenation
C. @,;B0,ee2e80¢ Hydrogenation
D.

JozLR 0d adiition reaction

2. DAHFRD BT LBRIFD’ NPT BOWONIT0Z e TePd B9, NS ?

Identify the wrong statement related to saturated hydro carbon *
A. TRER® - B BTTTEVNY SRS HBW0RIDIST.Single bond

between two carbon atoms
B. @38 T wewded CnH2n+2 N3.Its general formula is

CnH2n+2
C. adpotd Saberd & yde,eseea’ 8NS.0ne of the saturated

hydrocarbon
D. egdder® TomaadhdBmeN odredevoNd. Methane is chemically

more reactive

3. 8,6’ MY ey wewaed, Pick out the correct molecular formula

for Alkanes *
C.Hania CoHans2

Option 1 Option
2



CnHZn-Z anZn

Option 3
Option 4

4.8 JoawdBADS g adrervowy Identify the functional group present in

this compound *
H H H
L
YT
H HH OH

A. 3eedeex® ketone

B. esedp.emoe Alcohol

C. 89z, Aldehyde

D. zowyeed O3° sz Carboxylic acid

T Y —— BoonEE SuReReSmNG. This is the

structural formula for the compound *

]
H—C—OH

A. o~eeF Ethanol

B. 28~9e* Methanol

C. oBReedns® esa) Ethanoic acid
D. 3 eedhz® ) Methanoic acid

6.2INPY FpeTedper’ I SB¥FexeS) avex)idosd Which among the

following is Structural formula of propanone *



HHO

I H o N
H=C=C=C-h H—C~C~C—H
HH HoOH
Option 1
Option 2
H H H
iR p ]
H-C-C-C H (|3 (|3 (|3 OH
HH O-H H H H
Option 3 Option

4
7.0 SRR BOWELNTYRY, BP0 30,ex* Tjeesadh Soadndd BID

D) vewed, Name and formula of the alkene compound having five

carbon atoms is *
A. Soedex® C5H12 Pentane C5H12

B. 30t3e® C5H10 Pentene C5H10
C. dodéa‘ C5H8 Pentyne C5H8
D. Joe3e~9e* C5 H11-OH Pentanol C5 H11-OH

8.&@653@‘ def)md)d BReJ0e3* wo3ENY The number of covalent bonds

present in Butane are *
A 4
B. 8
C. 10
D. 13

9.2YNYY TR T)eed FodwINTRY, NDHAJ.Identify the compounds

which belongs to same homologous series. *
A. CH4,C2H6
B. CH4,C2H4
C. C2H2,C2H4
D. C4H10,C4H8



10. CH3-CH2-Br 8 Joainzad &xd Whati sthe name of this

compound *
A. ¥npedee egdes® Bromo methane

B. 2ipedee Ss5ex® Bromo ethane
C. Wnedee Boedex® bromo Pentane
D. 23p,ecdee Fpeses® bromo propane

11.380e B3 e I wendezd) Molecular formula for Cyclo hexane is *

A. C6H6
B. C6H12
C. C3H6
D. C6H10

12.CH4 + Cl2 — CH3Cl + HCl @b ___ 3,03t evmed0s059Na This

reaction is an example for *
A. JozoI g0dh Addition raecton

B. s@e33 3,00 Substittution raection
C. sva @ees 3ad Oxidation reaction
D.

ox,0es8es &b Esterification

13.R0e8000 e93e3etr S Tooadhd eewed) The chemical formula for

sodium acetate is *
A. CH3COONa
B. CH3COOH
C. C2H50H
D. CH2CH20Na

14. ToRMW FIrieda &50Habd JedSY VoLdTIIRDES TIIMW

While cleansing action of soaps in water they form a structure called *
A. DIeF 1YW miscells

B. o3 @eeaze0nsd Oxidising agents
C. s8a)id Acids
D.

SN Bases

15. 6 TRV BTELNL 6 TRV SOBTEVNFRY, TR OO ToodwS

Identify the compound having 6 carbon atoms and 6 hydrogen atoms *
A. ©3ex* Hexene



B. ééﬁ)ea“ Hexane
C. aafazseéea“ Butane
D. 2Jo2e~® Benzene

16.21YY are)D BT ;0° 1T DooT @e3, JOeE HeRdabe) Which one

of the statement is wrong related to ethyne *
A. C2H2eenxe3) Molecular formula is C2H2

B. @@ @dverx saturated

C. Q0@ Fowfx* FTENY IS 3005303. Triple bond between

two carbon atoms
D. @@d 8, ,x° F)eedod Joadwz This is an alkyne compound

17. 5 B’ @Teveeriw), -CHO 3aderboxmsy @eoddha Joadws Identify

the compound having *
wotdexee Pentanol

éodeméw‘ Pentanal
Doeledees® Pentanone
Doe3e RS esdom Penta

O 0o w »

18.5206R° BoawIMW WSS DFL TIBBNYNS.H3083 Carbon

compounds are poor condutors of electricity because *
A. 20D D3 BB Do 3B They have low melting and

boiling point
B. s3xrme 33 ®d), IrwoeNey Attractive energy is not so strong
C. adbox)3e eﬂoma)ﬁeéag eV STeBYDQ. They donot form any

ions
D. ©03800ed,3 20 Bowe 3B I3 Intermolecular force is very

less

19.23nY0 S NDIYBY, H3A Identify the wrong one *



odendowm)

Class of compounds Functional group
ese3.0,L T

& Alcoho: -OH
e36) B,

& Aldehyde -CHO
3e&3pC°

€ | ketone -CO
FOWF 3,DT°

D |esad), -COH
Carboxylic acid

OO0 wWX>

20. QRNYQ eI ssdex’ 3 ‘32656_5):93‘ b, BedSadreNd ? Which one of
the following is the electron dot structure of ethene ? *
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Periodic classification of Elements
1."Z0bnY Aob'BRY, AdRGITSD/Who proposed the law of triads *

A. 5933 /Mosley

B. Jney0tf/Newland

C. Dorde /Mendeleev
D. deed;S0° /Dobereiner”

2. 083NY ADDY) B PoRIIIT Do) e odbeervads/Upto which

element the law of octaves was found to be applicable *
A. Bpeesees, /Cobalt

B. &6&’)”01)0 /Calcium
C. @pe3dado/Potassium
D. 832" /Oxygen

3.2100e BT3B Bt PoR) BB BTt MoB) Te0DT./ In the third

period of the periodic The element having smallest size is *

A. Na
B. Si
C. Cl
D. Ar

4.885)A8 8D3¢ Beexsd BODS oYM ( WFDe INENY) D) B8I3eNY

08/ The number of groups and periods in the modern periodic table

are *
A. 7 32331 ,9rhox)niw/ 7 periods,9 groups



B. 7 833eiw0 ,18 o)y /7 periods,18 groups
C. 9 833N, 7 noxxn /9 periods,7 groups
D. 18 es33¢nd, 7 roxnkd/18 periods,7 groups

5.397 BRE DT PRI Sed, @Iz v Joal; Torie ©TT Seddd),

5,cveN/Number of valence electrons and valency of the following

element is *

A 28
B. 2,6
C. 8,2
D. 6,2

6.6350AB TBeE FewBBY 20D BIIFT ABD0T WS, TeNTOS
DoAY =Tetw Medy) /If we move across the period in the modern

periodic table the size of the atom of the elements becomes *
A. 2w301PHBY /no changes

B. S08w 339N S033 s@haderb3d /first increases and then

decreases
C. @39 BT sincreases

D. 88cbarerb@d /decreases

7.2,8 o959 7 IR B, BROODS HoDTY, B3¢ ek 3T o
odIO Soew)d./Where do you found this element in the periodic table

having electronic configuration 2,8 *
A. 16 Se no)/group-16

B. 2 Se rhog)/group-3
C. 83e rbowy)/group-8
D. 183¢ rhozy)/group-18



8.Al+33 @59~ IR/ Electronic configuration of Al+3 is *

A. 28
B. 2,8,8,3
C. 28,3
D. 2,8,8
9.0,F\N poari¥/x S0reed SR8 &0 mhndd w3adwes JOwred
5, /Which of the following gives the correct increasing order of the

atomic radii of O,F and N *
A. ON,F
B. O,FN
C. F,ON
D. N,F,O

10.03-00RdAodo svotdaremdsess ;of/ What type of oxide would Eka-

aluminium form ? *
A. EO3
B. E302
C. EO
D. E203

11.Na, Si,CL,Mg,Al 8oL D3 TNy eheedeadrdesa) @93 5Hnd
TS BOWT T /Arrange the following elements in the order of

their decreasing metallic character *
A. Na>Al>Mg>CI>Si
B. CI> Si>Al>Mg>Na
C. AlI>Na>Si>Ca>Mg
D. Na>Mg>Al>Si>Cl

12.&@636 Bead N ool /Electro positivity elements means *
A. @d@&ﬁ?@( ,e50xT e/ Electron accceptors
B. f;zejayabrﬁ%ﬂd& Qe BT HoadnW/Electron donors
C. De3ereadf rid /Metalloids

D. &3 od3 peddriwy/zero group elements

13.Q3R¥Y erioen ‘9&5‘&?3}66 eaag( Y DBERRS ody/Which of the

following elements would lose an electron easily ? *






Ca

14." 0% ML uPhre SoEreen Sosdod BSSeeod
RS0RBeINK " The properties of the elements are the periodic

functions of their atomic number“This is *
A. 08B0 ] 8333 Beewd Jobad/Mendeleev's periodic law

B. dped,;80° S oy daba/Dobereiner’s law of triads
C. 858 833e3 Bpewss Nabadd/Modern periodic law
D. mémzsocs(d 053N Jobe/Newlands law of octaves

15.68833¢3 Bty 330 aBO0T WOF, BOIToZ B desead3odw/how

does electronegativity changes If we move across the period of the
periodic table *

A. 230MPVL /no changes
B. 38xarerb@d /decreases
C. @333 sincreases
D. Seden ®39N Jo3T sBadyerb3d/first increases and then
decreases
16.20083¢ MHodrt Fedd poRY D3/ Identify the elements those

belongs to same group *

094

- —— i =
Py aN\\ s
(oo | KXY @
| \ “‘ / “_‘ / o
R~/ / =y =
W "'y
. %o
Sodium Oxygen Potassium Megnesium

A. 33 23°,3pe3adabo/0xygen,potassium



B. &pezodado,ehNedado/Potassium,Magnesium
C. Qee80aD0o,zpt39d0do/Sodium,Potassium

D. Qeeado,esd x°/Sodium,0xygen

17. @rivd SOyed £e@8rﬁeédg( D3/ Identify the correct

statements *

BePLFTRYD

SR3FT 0T BRCTOI3 Se(DTI NI
A TR 0350123 T3 /across the period metallic

property decreases

INFR FYN BRCEBO3 BT M3
39,3 t3/down the group atomic size increases

3R 3T 3DI0T BRCTO3 W3 FACODH I3
C TR 030> B3/across the period electro
positivity decreases

INFT FYN BRCTBOZ 903ICFT 33
D TR 0323 T3/down the group ionization energy
decreases

DI BCLFNYH IDOIoNI/All statements are

correct

> OoOOm

18. AB,C,D @@ E oo peaniwd 3heeN 2,3,7,10aa) 30
56&)@3&3@0332501)3& BRODT. AYNYY wode 8IBed, FeDS
oo /Which of the given elements A, B, C, D and E with atomic

number 2,3,7, 10 and 30 respectively belong to the same period *
A.BDE
B.ADE
C.BCD
D.ABC

19. &,;WR LB BTV STDTED 323 (dBReDet30’ NwY)/ The atomic

radii of the hydrogen atom is(in picometer) *
A. 37pm
B. 16pm



C. 11pm
D. Tpm

20,6333 30e83BY 2,00 STIFE, 8F,NVE TOIR, reFe ? What

is common for a period in the periodic table *
A. JeSF ‘5265&)956 N Josd; wodde/Same number of valence

electrons
B. 2,00 833X RN wodde Jned, Jedb33/In a period elements

belongs to same group
C. wodde Josfad SeeJd) /valency is same

D. 2,033e ﬁoa%ob B3N /same number of shells



eaméab -6
e &adrid

Life processes
1.293T3 B)Bab) 20T A&, O, 700 wBDBERXST ? The rate of heart

beat in human beings is *

A. 62
B. 72
C. 82
D. 92

2.330h3 ared Beerady 83 RN &3 08X, Boa® Fer3d.? Identify the

chamber of the heart which pumps oxygenated blood *

OO wW>

3. AYN BBoHT T 0rR Boz3dwer 88 dan,eeN BOWNIHTIY
3ddw33.Identify the following which prevents back flow blood when

cardiac muscles contract *
A. PN atreries

B. e9TANK veins



C. 383N valves

D. I3 pd septum

4. 353 831 BpO3 reITLD T9,TBRLINEN B0z’ e BBohT Beess

Heart of the chamber pumps blood to lungs for oxygenation is *
A. oB ®y3 6o Left atrium

B. v ®3 ¢ Right atrium
C. or 3,3 left ventricle
D. 2o &2 Right ventricle

5. HBFRDINLT BoWoRITOB rex Bewd w9 NG Identify the wrong

statement which is related to arteries *
A. d§dﬁ& 59)5303.)&0{3 BeBTB DI vonndn éfaozifaoi»gd They carry

blood away from the heart to various organs of the body
B. 33,003xY, DS wonniPond Jorjdd BBabd, HTP SHII Arteries

collect the blood from different organs and bring it back to the heart
C. d%md,@ém@ds 2;’)@0:1)5.3( @R0RJ. Arteries have thick,elastic walls

D. 3FDI T DEd De¥NweN NIXSBT. The arteries devides smaller
and smaller vessels
6. @d)@& 202303 BoRVTB 3TEDBNS @™ne Double circulation is not found

in the following vertebrate group *
A. 33nd Birds

B. 8y Mammals
C. evdadeednkd Amphibians
D. Qehn Fishess

7. BIITS Bewsd B woney® odre)wd ? Name the organ system in human
body *




Bemoronadp® digestive system

Sozadee3 8 JR® reproduction system

o w »

ATVEDONIY® excretery system

D. zo,Te0ne® respiratory system

8. 2T JeeDIB FeIBNYSY dert sdadwze3 The filtration units of the

kidneys are called *
A. 359 N nephrons

B. S»Tox® Nwy neurons
C. Swede%¥ ureter
D. Swed&ee3 urinary bladder

9. VDI ITBE0NTREBBY A B C A D D3I yoniris’sy,

®x0&.identify the parts in human excretery system *

A. A 33 doB8 B 313 dTweNe oY C dweddeed D duwedmew A-kidney

B-urethra C-urinary bladder D-ureter
B. A Qe 0B B Sue3ReY C Swed@eed D Swed) IR0 J9%¥ A- kidney

B- ureter C- urinary bladder D-urethra
C. A 33,308 B SwedBeed C Swed ¥ D Swed, JoRee X A-kidney

B- urinary bladder C-ureter D-urethra
D. A 23 3Bee3 B Rup3d0e% C 103008 D Swed) IBReNe Do A- urinary

bladder B- ureter C- kidney D- urethra
10. DB B dorrs e seabe The kidneys in human beings are a

part of the system for *

. g pu |

A. Zpemss nutrition
B. ev0et3 respiration

C. Q3RS excretion



D. Seoreedd transportation

11.088:), ) nedso3d Syemda 833 38 The constituent of the blood which

helps to clott the blood is *
A. =99, plasma

B. 30 0336 Red blood cells
C. 0¥ Tz36 white blood cell
D. 33N platelets

12. mPrt 308 IKB 23enn9od 8ah SRBTO et IFTrHIYTIY, ------
o D. The loss of water in the form of vapour from the aerial parts of the

plant is known as *
A. 0o ITWES transpiration

B. @3 JoTewsm photosynthesis
C. 3= T~J0030¢6 translocation

D. =306 3@ osmotic pressure

13. Toreedd o) B3 TogNY DES,B weB)30WT Significant role of stomata in

transportation in plants is to *
A. e IFITI, )ADIYT create upward pressure

B. B’ @ &880 Y eI absorb carbon dioxide
C. 832 ADNE YD release oxygen
D. Q8033 270 TR eI perform transpiration continuously

14. IJNYY B ;0 wesnedd The xylem in plants are responsible for *
A. QedI Tereedd transport of water
B. &8%930 Tereedd transport of food
C. o Ree 8HNY Temeedd transport of amino acids

D. s3] Teneedd transport of oxygen

15. DRTRE, FowodToZ ez ®ePd Bw9,NA. Identify the wrong statement

related to lymph *
A. TNJRY) BRedeedToYnYY ®0an3d. Lymph drains into lymphatic

capillaries
B. @) Speedednd @podd. It has more proteins

C. 2eear 298 DA 3DP0T HeTV) E3 YR, ToNWIBT.Lymph carries
digested and absorbed fat from intestine



D. BesBee3nd TpONDLT HE 33 Bwegs S, TP 588, FOWBWS0Z
So33. drains excess fluid from extra cellular space back into the
blood

16. D333 TedT 3 Fpd Tame¥ The largest blood vessel in human body
is *
DFTIRTDA Aorta

RVD,I8 WBP pulmonary artery
5330 9BPA coronary artery

o 0w >

gUed YT superior vena cava

17. s8per@03 SoISS Bewd 383 w338 Blood pressure of healthy person
is *

A. 120/80 mm.hg

B. 80/120 mm.hg

C. 130/90 mm.hg
D. 90/130 mm.hg

18. @RI B3 wBISY, Wb yumadeeNDS wvasdes Identify the

instrument used to measure the rate of heart beat *

6%\)&)66306 Oximeter




I deecdn,ec Stethoscope m&eecetso’ Glucomete

19. 20 S0BTODS SFon* Mwd S TV DS =0’ Soang

Sy IV The nitrogen waste removed by the nephrons in the human kidneys

is *

© 0o w >

adwedod Urea
@d)édrae &8z) Amino acids
rpﬁraea‘ Glucose

ORINRD Salts

20. SN SYRNYY, @3 Tz IPe Identify the technique uesd by the

plants to get rid of waste materials *

A.

B.

D.

QUNYY Ty SWFEN JorBNWBMT, WY LVWHO Teerb33. Waste

material may be stored in leaves,that fall of

JTeamoN YD B 0B MYY Ty SWIFFNW Ta¥ DA WoLdNY

deaTY JSondmervda. Waste products are stored as resins and
gums,especially in old xylem

BTN S, DBOT DR BT BUY) TYURBINTIY
ATBeD33.Plants also excrete some waste substances into the soil

around them
83 edI oy all the above



@méofnﬂ
Q0DOBE DR VHIINS,

Control and Co ordination
1. 29RO LeeBaiond Axers rjo® Which of the following endocrine

glands is unpaired ? *
A. 8 Adrenal

B. daaea Testes
C. Qex)e30 Pituitary

D. eowezad Ovary

2. AT J;0N3 8 ©FENIT ToTeaeres Hocdeeex* The hormone which

is responsible for secondary sexual characters in males is *
A. éexira@e&a‘ Estrogen

B. dﬁ@ge&ma‘ Testosterone
C. @d‘)uef)a‘ Insulin
D. Y33 doeeex® growth hormone

3.2 evotzordYych Dwarfism results due to *

A. §,;003 X TodeerdS w3alyed Jddadbod Excess secretion of

thyroxine
B. 39363t Todeer = 3BXD 1)dBoT Less secretion of growth

hormone
C. 98O BoBeerd3 3B &)dB8AoR Less secretion of

adrenaline
D. 393edrt ToBeer AN 9303108 &)d8dod Excess secretion of

growth hormone
4.2YnYO odroYmd o3z Sababe Which of the following is not an

involuntary action ? *
A. Do0380arhHlxy)d Vomiting

B. W33 Salivation
C. ae)dofn 283 Heart beat



D. esRcdwzy)cdh Chewing

5.090TVNY BAM BONBLED IPBNY WLIedry ------ 0eB0d DTBEIN
eVTm3B NG, The growth of pollen tubes towards ovules is an

example for *
A. 209333 Hydrotropism

B. 0000 To3Bex Chemotropism
C. nd@,a3Bes Geotropism
D. @33 bI3eS Phototropism

6. X' 20t MHDIDS onadD, X0 Name the gland marked as "'x' *

A. cﬁémd’ba‘ no® Thyroid
B. ©83ef njod Adrenal
C. Sy=es Testes

D. Jeesd Pituitary

7. 30e33 IDBee0S ¥rdod dobod T, B33, Posture and balance of

the body is controlled by *
A. Dmede, Cerebrum

B. @babdx, Cerebellum
C. e Medulla

D. ma: Pons



8. 05,008 &F Tockeers 1t FowodBod FYNIINVY Szo3 Be9d The

incorrect statement related to thyroxine hormone among the following
is*
A. 2 B S Walrezdad 30dhabr JabodHB3 it regulates fat

metabolism
B. @33 300303 n¥nod dreen evo3ordadd its deficiency leads to

goiter
C. A &0, T roHM0T JdBadyerdS3 it is secreted by

parathyroid gland
D. 85330 9030eB3° *BT eV BT eﬂriéémﬁd iodine in the

food is essential for its production.

9. mrﬁrﬁ?xﬁ& HDH3ED.Name the parts of the brain *

C< -1

A. A3, B-Hdiwr C-wmor’, D-ohabdes, A - cerebrum B-
Medulla C- Pons D-Cerebellum

B. A-®oxhdm, B-bahds, C-dhidhers D-wex A - cerebrum B-
Crebellum C- Medulla D-Pons

C. DT, B -moxf, C-DHderd D-habds, A - cerebrum B- Pons
C- Medulla D-Cerebellum

D. A-0ad@, B- ox?, C- ey D- Dweabda, A - Cerebellum B-
Pons C- Medulla D-cerebrum

10.0008 ToBeee S JoTewsmrt oleeld® Eﬂﬁézsc:)d ? lodine is necessary

for the synthesis of which hormone *
A. o8O Adrenaline

B. cﬁémc";\)a‘ Thyroxine
C. Q‘J%\)E‘ Auxin
D. @dg\)@a‘ Insulin



11.85 33)adbexxk3od3 This diagram indicates *
(D=

|'_ —I] K’{ (ﬂ ﬁ
i N

S0s33¢3 2393 Reflex arc
)38 DB3eS photo tropism

méoaac neuron

o 0o w >

DT, cerebrum

12.00 883N ( 3R007° NY) SIS oSTSIY derford SCBSIT.

A small gap between two neurons is called *
A. I, ( SoJrie) Synapse

B. @od,t5* Dendrite
C. 83" Axon

D. Stedert Impulse

13.3¢03, ddd/aa@@ @d)rﬁ%}@( wYreolT Central nervous system

includes *
A. DY, LD ¥, Brain ,spinalcord

B. 1w w9, DHdere spinal cord , medulla
C. obaAdw, , ok, cerebellum, pons

D. 2@, , oD, cerebrum , cerebellum

1485003363 Wond AV, onnYRY, wdaineas SO0ared g Which is the

correct sequence of the components of a reflex arc ? *
A. MyBBNR -9, 0dn-oRmed ITBReB-30ocedb STBREB-DDW WL,

Receptors-->MusclesoSensory neuronoMotor neuronoSpinal cord
B. my@aniwd) - 3odomed SCEREB-DWR WY, -Wodwed STBReB-

<9 adwReceptorso Motor neurono Spinal corde Sensory neuron
Muscles



C. My®BNL - DWDR W%, -oSDed ITBRES - domed SCEee3-

J9adw Receptors ¢ Spinal cord ¢Sensory neuron ¢ Motor neuron

oMuscle
D. me,®3rixd —g@ﬁm& STBeeB - W, -Godomed STBeeS -

<9.adv Receptors ¢ Sensory neuron¢ Spinal cord ¢Motor neuron
oMuscle
15." 3¢ @0330d wedeerd” Emergency hormone is *
A. o8O Adrenaline
B. 28 Adrenal
C. e37dred 0" Testosterone
D. @) Ox° Insulin

16. S 3300 A ) B riwh 93, R3S ? In this diagram A & B

shows *

A. A-GR Nd@,3BeS B — 8ed nidb@,ha3es A-positevely

geotropism B - negatively geotropism
B. A-8063 dh@,A3BER B — B3 rhdhzg,33e A-negatively

geotropism B - positevely geotropism
C. 3 vDI3S Phototropism

D. 9333 Hydrotropism

17. ﬁﬁéﬁ%*e.‘)m é/aezsaz,:i&ﬁojmg( VBeBDS Toweerx* The hormone which

promotes cell division in plants is *
A. 833" Auxin

B. 8&3)0‘ O NY Gibberellins
C. J;e0e8,Ax° riwy Cytokinins
D. eﬂefg)(%as“ esdg) Abscicic acid

18.23%3: 381 S008 J¥wzykxd The movement of shoot towards light
is*
A. DB, I3eS Geotropism



B. 2e9a33¢S Hydrotropism
C. D00 ASohT3e Chemotropism
D. d)3 o3S¢S Phototropism

19.3080e3 (JR007° ) B IR eaSerinw O SO Syerie

Electrical impulse travels in a neuron from *
A. BoBd,t3* - 8597~ ITDY - Beedzead Dendrite - axon - axonal end

— cellbody

B. 853 1° - STDD - pedzoad- Bod,ts* axon - axonal end - cellbody
— dendrite

C. Bod,t5* - Bredzoad - 859° - T2 Dendrite - cellbody - axon -
axonal end

D. ST@8 - &3 7° - Feedzo0d - Bod,Es axonal end - axon -
cellbody — dendrite
20.DDHOI ©3,03 Bpgwed ent The largest part of the brain is *
A. Dmoxdw, Cerebrum
B. &b, Cerebellum
C. o, Pons
D. @9 Medulla



eﬂméab—B
ReNYW Ber JoToieed 8 FBSI?

How do organisms reproduce?
1. @eagN Semerm@arha @IS 23on/The part of the flower modified into

fruitis *
A. 3ex33/Anther
B. eowezad/Ovary
C. Bwezany/Stigma
D. @oens¥3/Pollen tube

2. @YiiHY oY NMod Soedeed 33R&T weriadw / Which of the

follwoing is not the part of the male reproductive system? *
A. deadexey/Vas deferens

B. ®o@~e%/Fallopian tube
C. Sy=ea/Testis
D. 3 /Penis

3. 83)602) Sodhadh TBTW SBwew)d HpewEoha), BBV JTERTT BOMe03/

The embryo gets nutrition from the mothers blood with the help of a
special tissue called *

A. oa3od/0vary
B. &o@~e% /fallopian tune
C. 20000v/Placenta
D. ndeBdeed/Uterus

4. 300N @ISO Bedw / Unisexual flowers consists *
A. 3eB0 BUed F3e3) BoDDBG/only stigma
B. cvexdcdh @) / None of these
C. 3e0 9D BUes o3BG /anther or carpels
D. 3ex0 203 o IT/only anthers

5. B)@NYY v Sabyerhas Hecdeeex* /The hormone produced in the
testisis *



A. éexifaye%a‘/estrogen
B. @925, 09x°/progesteron
C. ax) Oxf/insulin

D. daifacgecﬁg,oaac/testosteron

6.2MPY ddreddd J;0Ns deeriade)/Which of the following is not a

sexually transmitted disease *
A. e3edare/gonorrehea

B. ejedadyo/Malaria
C. o /AIDS
D. 3Ox°/syphillis

7.Q3n¥Q &,03° Aod w33 Jeeri/Identify the disease not caused by

the virus *
A. RT0ond edS rn/ warts

B. 32O /syphillis
C. o /AIDS
D. &pdrexo/Corona

8.@eI Nod Jozexieea 3ad ¢yori/Male parts of the flower *
A. ool /ovary
B. 3ed/anther
C. 3ed/stigma
D. @1 3% /petals

9. 1IR3 ey Sozeteed 30b ¢yori/Female parts of the flower *
A. 3eed/stigma
B. @oeni/pollen grain
C. 33 I93/style
D. eowe3zod/ovary

10.8RAN B Wondy) SN, B8BAEQ BONR,BE Gah SEodew Jwaad
o33/ The part of the flower which attracts insects for carry out

pollination process is *



W>00

11.QTe338 So3T DedNwoN DIowmeeBora @RI &Jont / The part of the

flower modified into seeds after fertilization is *
A. eomagod/ovary

B. ®@o@3/0vule
C. moeni/pollen grain
D. drexdcd @& / None of these

12. Bey JoSoeed 3 RBD) RINYRY, w¥rwoBd/Female reproductive

system includes *
A. ©90TB%,deadeNed,Ne3cBeed,oedad)/fallopian tube,vas

deferens,uterus,testis,ovary
B. ©0B30%¥,deadeod,dymes,omezad/ fallopian tube,vas

deferens,testis,ovary
C. ©90B~e%,080ex),n3cBeed,0we3ad / fallopian

tube,vegina,uterus,ovary
D. ©0B70%,Jeade o, MelcBeed,apes et njod / fallopian tube,vas

deferens,uterus,ovary

13. SoITS Mo JoTodeed 3BT i, 3L / Identify the

parts in male reproductive system *



A. A-deadee¥ B- Bpedees® nod C-adwed oo D- Sy&e / A-seminal
vesicle B-prostate gland C- ureter D- scrotum

B. A-2ue3Pe¥ B-a3pesiets nod C- Dwed)diReme Jo¥ D-dymes / A-
Ureter B-prostate gland C — urethra D- testis

C. A-egITRex0 D% B- Bpes et njod C-deahemed D- Sy:es / A-

Urethra B-prostate gland C- seminal vesicle D — testis
D. A-deadee B- Bpjedees rjod C-dved e D- Sywes / A-seminal
vesicle B-prostate gland C- ureter D- Testis
14. BN WY0dweE BRI ort D) ITYE eveN Svodnes Dewd on
3o / Part of the flower that develops into fruit and part of the seed

that develops into root respectively are *
A. ©0Te3adh DR P So0@ / ovary and plumule

B. 332 3208 @) @3 Swew / plumule and radicle
C. ©»0ze30dh DA P Jwew / ovary and radicle
D.

©0TeBAd DR ot / ovary and ovule

15. BRABDT I, D) FIB FoSedee3 8 BHBNYOBTLR FOR) WD
w0o8e TIOI et/ Name of the organ which is found both in

reproductive systems of flowering plants as well as in humans? *
A. 395 398 /Pollen tube

B. eowezad/Ovary
C. 3ex33/Anther
D. Qeade~es/Vas deferens



16. 8;0N8 JozzsrD0T MIrredenaba) BB JoSnve)ld) ? /What

are thedifferent methods of contraception *
A. zsgi})o&)oi) BB JeADETIY VPD WOBNYE, BT YVOELD

DI . /Interrupting thesperm or ovary through surgery.)
B. S0d 5me om0 -£3 0w SBWoDRY, Merdeeddp v FedYH
/Insertion of a barriercalled wonky or copper T into the uterus
C. 8 ovdp /All of these
D. odperDNYRY, TDBReVTR IS S NYD, Srcd
B/ Taking pills that imbalance hormones

17. Mo Jozedeed 30d 83 onnw cl’)eoimssmddg( WOJITeN TN
DB BT pewert @ﬁéémdd@mﬁd& )T VH0LBTB8S/ The

parts in the human reproductive system help to secrete substances,
which are essential for the transport and nourishment of sperm *
A. Speees® nod 9@ /Only prostrate gland

B. Jdeadbedeedd ) Ipedees rod / Seminal vesicle & prostrate

gland)
C. Qeademed & deadeBpedd / Vas deferens & seminal vesicle

D. Jeads Do D) IpeI et nod /vas deferens & prostrate gland

18. Jeadrorew DB LoBIELNR Boodeen BPODTW F0BT HV0EIIT TS
/The structure formed after fusion of male and female gamete is the *
A. adone 7 Zygote
B. Sozexdeed 3 / Reproduction
C. Soddeert / fusion
D. dzedS / Fertilization

19. 8 43338, JowoRAToZ adred ®ePS BOAWeNS/ Which of the
following statement is correct regarding the diagram given below *



geawen,

Soardeea

"

Liele)

A. 2 B,00N Fw / bisexual flower
B. 2,00 @IS FLVTTOHS B0MTEED 9T BRI BTSN3,

SMerdenrie)y33 / transfer of pollen grain from anther to stigma

of the same flower
C. 8 @RI J,3e0d B0, B 308 IBaw3a / self pollination

process can be takes place
D. oe9 HeRINR 00aND / All statements are correct

20. 0033 3O3rie Y DwIn,nels Bee3a wIPTOWD DD V) T3 D)
dped0d Cad) T 3,30 / If egg is not fertiled the inner wall

of the uterus breaks which causes bleeding through vegina .This
process is called *
A. Qzeds / fertilization

B. 503ri7§323€ / Pollination
C. déoﬁé asd@ / Sexual maturation
D. sb@yeds / Menstruation



@3B 9
T0deadd D) Ve AT

HEREDITY AND EVOLUTION
1. 208 ADFF MBS, Ao BRDB03e0hI 0 BPVETEIBTS)
Som"dg(dd)/ A unit of heredity that determines particular trait is called
A. BORF o/DNA
B. 2ex3&0e3/Cell
C. D0B&NR/Genes
D. 830° Ox° &/RNA
2. 30T Sod0abhDoT MIENB T,V SMIFTBMR RS P33,

&Eﬁﬁg(ﬁd)/The process of transmission of characters from parents to offspring is
called

A. BOR® o I)3es0¢e3/DNA Replication
B. &3 0T3¢ /Mutation
C. 30503 /Heredity
D. Jnesdes/Transfer
3. 20T AVET, VFEB, ToORITOZB I TTW TR TRTNYD, SpedDT
c—"oﬁéﬁ‘?d& 0,003 )08/ Crossing the two plants which having two

different contrasting character for same trait is called.
A. OB 3YB0CE/Mono hybrid cross

B. §,39ez0¢3/Di hybrid croos
C. DZB¥es0er/Mixed hybrid cross
D. @Q(é/Variations
4. F1 3000 &3 39N IBe3rin Y Mea/The character which predominates and
is clearly seen in F1 generation is said to be.
A. 83e09NT /Acquired.
B. RFODeBR)/Recessive

C. @@mdd{g/Variation



D. @08 w)/Dominant.
5. DG SBT3 (TT) we3ees NBSIY 23 NG (1) e3eed NBpol JoB8dITN

F2 B90HO G 930 DR DG NG 2esee3 NENW BBIZPNT DTS/

When pure tall (TT) pea plant is crossed with pure dwarf (tt) pea plant. The ratio of
pure tall plants to dwarf plant in F2 generation is.
A. 1:2
B. 2:2
C. 1.3
D. 3:1
6. YYNYY Fo0Te D Td WoNNEr TOTT HVTIBTE Y,
3€A./Identify the correct pair of analogous organs among the following.
A. d)d)o"&éﬁ dnorﬁ’é 5)3_.2 5%0&) SVOoreeD/The fore limbs of man and the
fore limbs of frog
B. @30h33, @) 393D T, /The wings of bird and the wings of bat
C. ®Oab Sworreed SHA) Bal 01 VO /The fore limbs of lizard and the
fore limbs of frog
D. d)d)o_’aéﬁ d).)or?é d)d)_n BT SWOorTee/The fore limbs of man and
the fore limbs of Horse
7. B0LE 003 B8N CedR 23ed 23ed SN orindrt eri) ST/ The
organs which are differ in structure but performing the same function are called as
A. BBJoDTRSD 90N /Homologous Organs
B. 0096 DTRD 90MMR)/Analogous organs
C. 3WR)D ©onnK/Cloned Organs
D. D3 oe)Fp/All the above.
8. 0T DI Do APETrYW)/The Sex of a baby is determined by
A. 20000/ The Mother
B. PIcRO0T 00T J0BTednL0ot3/The genes from ancestors
C. 3oBAoB/The Father



D. )3 QIR Rod/From all the above
9. d)cﬁ)ﬁéd z%edéraeérﬁeéeg BORDVDD BEIFI0ANY ﬁo&%/The total number of

Chromosomes present in the cells of Man is
A. 24 BR3B/24 Pairs
B. 32 2303/32 Pairs
C. 23 3/23 Pairs
D. 13 2303 /13 Pairs

10. BRR BRIETT LVNB, T)BVDIT S9TE/ The formation of new species is
generally due to
A. DODID BN LOT 203 @@@ﬁ@od/Accumulation of variations
over several generation
B. A0l 200 BTeBBOT DAROD BT,
B3O BO0T /Movement of individuals from one place to another
C. BB)30UB 3T WBUTHNRP0TW/Sudden changes in nature
D. @ﬁéoﬁs ABTIDOT HVOEFIMDT BTRBMLOTI/Clones formed during
asexual reproduction.
1. IS Ve IBIT FooTNYRY BSHed e W¥E B B3
P93/ which of the following technique is not used to study human evolution.
A. VB 3/Excavation
B. 2% WPBNKR)/Fossils
C. J0BODJH)R/Hybridization
D. 8 O & TRV /DNA Sequencing

12. 263 AT c%ago@d B350 BINY @pIc/According to theory of

evolution the birds are originated from.
A. 20e3TL0/Reptiles

B. e /Fishes
C. V30T /Amphibians
D. RN /Mamals
13. T,RI0c)B@eN TOTIT) €3 23 @aa’eam@ Boeﬁag(dd)/Naturaly

preserved remains of pre-historic organisms are called as



14.

15.

16.

17.

18.

DY NPBMR) /Fossils
S0 DTRD IO /Analogous Organs

B9 T 90N /Homologous Organs

o o @ >

DT WFp/All the above.
DY PINY BohI P b AFEODW B8 PoRT) WEDSIT/The element
used to estimate the age of fossils is
A. Bo3/Phosphorous
B. MOB3/Sulphur
C. RReB0do/Sodium
D. B9’/ Carbon
(EIAVNLS 3@%@6 DB oD/ The father of modern genetics is
A. D9, £3¢°/ Aristotle
B. o E @odE’/Charles Darwin
C. 5on* Nrieeo® oBde*/John Gregor Mendal
D. &3 e3°F 2% dex’/Albert Einstein
ad@@esdsad 29T OB/ The ratio of Dihybrid cross experiment is.
A. 9:3:3:1
B. 1:3:3:9
C. 3:3:1:9
D. 3:1
SR DT BRLANOT B0V NTET BTS00/ The vegetable which is not
developed from wild cabbage is
A. id8eexb/Kale
B. et3F Bee3/Beetroot
C. 239,&eed/Broccoli
D. QJBeeR/Cabbage
rbodrt Jedgy 808y, Byeld/Choose the odd man out.



(a)Wing of Bird

19. 2N 2,00 38, IPBTO BOJTT BV WTIITHNLVOT INY
S03T&NHY) TP OTIESBNPYTIE YVOLIMDET WBIIBHNVT Leriy S/ A

random change in the gene pool of a small population is called as
A. 2R3edeaTea/Speciation

B. &9Iodeod &@Jﬁ&/Genetic drift
C. AIned e30d), /Natural selection
D. VI BPETVIB/Migration
20.2HoBef W, F0deeninomen el SyedBeor IR/ The plant Mendal
selected for his experiments is
A. TR ﬁ_'c\);j/Rose plant
B. 2)£39¢3 ﬁ_'c\);j/Pea plant
C. T BEIS 5?0’25/Apple plant
D. @3TP Ve &’56 /Beans plant



@méod)—1 0
B, BEPUD DA 3333

Light, Reflection and Refraction

1. WD 2,0 dmdéd)&od @d@(od) dm%éé BODdN éﬁd BT
&665.3( WTTIADRIBT. B cbdédmﬁ Aoy ?When light travels from

one medium to another medium i changes its velocity ....... This
phenomenon is called *

A. 83933 3,830 Reflection of light
B. X3%33 %e03 Absorption of light

C. 8333 =333 Refraction of light
D. 233 23S Scattering of light

2. DIPTIT mdoc%scﬁ S | &33593 S.I unit of power of lens is *
A. 800H0° Ampere
B. @adyez30° Diopter
C. 3poow* Coulomb
D. &&* ohm

3.8 Q3 This formula is *

A. BB eI mirror formula
B. 23e03 Jed) Lens formula

C. DTPTT ToTF SowddBaina Jed) Used to find out power of
lens

D. Sge3od <ed) magnification

4.3 0° S Aobed JowordBe3D)d Snell's law related to *
A. B33 3333 light refraction
B. @3%¥33 5330 light reflection



C. ¢33 3 ISB scattering of light
D. 23933 %ed3 light absorption

5. QRN Bv¥d AT ROFTeTO BODIT ? In which of the

following medium the velocity of light is maximum *
A. Moy glass

B. Qedy water
C. =%, diamond

D. ded cD?g kerosene

6. dor3TY 3¥S Jert The velocity of light in vacuum is *
A 3%x10%°ms™2
5 3x10°ms?

. 3x10°ms~?

9  _
. 3x10°ms 1
7. BRACE T, -2.5D 8BS 53 Sorigd Bed o) ? find the focal

length of a lens of power -2.5D. *
A. -2.5m
B. -0.40m
C.-2.0m
D. -2.25m

8.0 dm,jédod QL3 BYD Jertcen BB In which medium light

travels more *
[, DD WP IT ZRW;0F

Material medium Refractive index

me 1.0003

wDozwIndd, 1.31

RCTDCNT, 1.44

By 2.42
A. 3% 7 2.42 diamond -2.42

B. me® ~ 1.0003 air - 1.0003
C. Sozond / 1.31 Ice - 1.31



D. R)e&eaﬁé / 1.44 kerosene -1.44

9. JonTWR3 o33 What is Focal length ? *

A. DTPTT FHs Joned @) B)z° BeFNe SIS Bed The

distance b/w principal focus of the lens and the optical center
B. @300 @353 Sored aha) W 380gd IWIS BdedThe distance

b/w principal focus of the lens and the aperture
C. IZze Beor) D) By BegnY SRS ded The distance b/w

center of curvature and the optical centre
D. 3530 Be0r) @) Wy3TogBd IBDIS dedThe distance b/w center
of curvature and the aperture
10. &eR DJRTHOT FSMIB)T 3o BE0IeBIBT SHTS)Y
QrIez9nd 9 Where should be object placed to obtained an image

from the convex lens as same size of the object *
A. ©3033e33Y at infinity

B. 2F1 Nod @edd® beyond 2F1
C. 2F1 39 at 2F1
D. F1aba) 2F1 iY &b between F1 and 2F1

11. @YnYY I3 eed Identify the correct pair *
A. u- 3,80ow3 BT u- distance of the image
B. v- SRIR @eT v- distance of the object
C. f- 3po3 Tonad Principal focus

D. R- bxed3 S5z03% Radius of curvature

12. 33 306930 Me® ALoB Mo W Babh Swewd Tl Teewan
BVOEINT 3T U3 B3 BYNI03T. adred 33 IOAT?The path of a ray of

light coming from air passing through a rectangular glass slab are
shown as A,B, C and D in below Figure Which one ofthem is correct? *



OO0 w>

13.e030 23 Bs DWWNARDS &) F° eNB0Z SoedRey o3¢ A pencil

partially immersed in water ,it looks displaces ...the reason for this is *

V4

r

A. 83933 3,330 light reflection

B. ¢3S %e03 light absorption

C. B3R 3333 light refraction

D. &3%3: 3D AB scattering of light

14.adyeezoriee g D) Jed &3VowBY, HVoED Byerded eHRRT A lens

which always formed a virtual and erect image is *
A. e RT3 Convex lens

B. 330 e Dxed Plano -convex lens

C. &’)d.g( @3R3 concave lens



D. Ih3w =), ST plano concave lens

15.2003) Hex RTB d@m%aﬁéa’» 50cm 3N, BT T3 mabc%&'

o), ? A convex lens has radius of curvature is 50cm.find out its power
? *

+2D

-2D

-4D

+4D

16.83 Teyodd) B BHo00R0T &)SD0WT TR, S0 M3 Horte

@

@30T I3, 3¥. With the help of this ray diagram mention

COowx

the position of the image,size of the image and nature of the image *

2F,
| a0 0w postion of o B K
Tkt ifrage Wartiire of the image
s cadde, 0 | T, T, B TS
AL irfireby Entarged Real and |rwerbed
Option 1
R0 E TR position of e e Temar
The: e agE Fotuee of 1he image
22 ool clmciciel R, T, ST
Beyend 12 Enbarged Raal ard i rvartes
Option 2
0o o mU s podtion of G La S P
nha iieage hatuse of the image
WImds o, G, B0t
g Enlarged Virtual dmd seect

Option 3



a0 ad m el padtinn of 2 A s el

Shas ireage Ririuee =F ihe image
ansiod clac sloig, £33, Hd

&t ir ety Wirtual and erect
Option 4

17.2008) A=), SDTRTT Sonabadedsy 30cm sNB.HRRTLOT &S0
20cm BRTBO $V0E3IL) TRBY, STPTHOT oI, BRTHO wrez 7A

concave lens has focal length 15cm.At what distance should the object
from the lens be placed so that it forms an image at 20cm from the
lens ? *

A. -12cm

B. 12cm

C. -60cm

D. 60cm

18.2000) TDRRTT B33, 20cm SNFT,03T Jonbwed o=, ? A lens

has radius of curvature 20cm.what is its focal length ? *
A. 10cm
B. 20cm
C. 5cm
D. 40cm

19.2030038 FeoBDoWSY, ------------ Qo 30AdWE93.The centre of

lens is called-
A. 3330 3eod) Centre of curvature

B. &3 3eog, Optical centre
C. RT3 3 Lens axis
D. Sonad Do Principle focus

20. 2i¥0 DHRRTB SIPFSabY, sotDeBaina JeB) idyeddd ? Which

one of the follwing formula is used to find the magnification of the lens
? *

e
|
S| =
I
S| =
v
|
|

Option 1 Option 2



m = R=2f

S <

Option 3 Option 4



0d-12
233 / Electricity

1. W BDoBBIY BT BP0 BB SR WD TGS /The

device used to increasing or decreasing electric current is *
A. Fpees eeo® Voltmeter

B. @c‘.’bgasoc Ammeter
C. Soifaemdaa‘ Rheostat

D. méegjairae&)easo‘ Galvanometer

2. Bred3 S. | ©3x59x3 The S.I. Unit of Resistance is *
A. &3¥ Ohm
B. &3 Qeesc® Ohm meter
C. ge30° Ammeter
D. Spees, eeso® Voltmeter
3.8¥NI Ao WIS IWT ToaTF BomdeBabey wFDYBY which

of the following formula is not using to calculate electric power ? *
A. P=w/t
B. P=V2/R
C. P=VI
D. P=IR

4. 2,00 Beerd3 erozgdﬁg( 3 dwen deerddy) /If the length of the resistor

inreases the resistance become *
A. ©3933 Increases

B. 38aderb@d decreases
C. wBwerbly®w No changes
D. 3pd ayerd3d becomes zero

5. AW, 0BUTO 233 E30ADRY, WHFDS evgded The battery is used in a

circuit to *
A. QB Dem BOSY, wodew measure the rate of flow of current

B. deerdadxy wdvedden changes to resistance
C. IJe080a3:Y, weodw To attain voltage



D. ©30e30d 33 @eorew to attain uniform volt

6. cf)a;’)ai d)’aoérw dred @PoDDI 3 dmcjérﬁ?aig( 3363 BHTD
LBeeBAToN JYNY we), TeeTY)...... If different values of resistance of

the 3 resistors are connected in a series manner,the total effective
resistance of the circuit is *
A. 8(3)308603 8&)0—’3 minimum than minima

B. 8&)6’3 minimum
C. rﬁ@ﬁoc?séoé ﬁ@o—’g maximum than maxima

D. ﬁ@a’g maximum

7. DY, afaoéms Bpeg BRoODE 3 Feeddnvs, Jare08T Bhrd
LReBATN YN we), TeeTY) ...... ...... If different values of resistance

of the 3 resistors are connected in a parallel manner,the total effective
resistance of the circuit is *
A. 308 minimum

B. 8&)&08603 8‘{')30 minimum than minima
C. rﬁéc—’g maximum

D. ﬁ@ﬁoz%éoé ribo—’g maximum than maxima

8. 2,00 D33 deerddy 27 Q 8NE.OTRY, et SenniweN 880
J700B8TveN 3eeBATIN T3 ), Teed ... A conductor is having

the resistance of 27Q.If it cut into three equal parts and then connected
them in a parallel manner ,the total effective resistance is - *

A) 60
() 30
C) 90
(D) 270

9. @RI HuERES Te AL Bs c;’)d)zsac QUTBTENB, eﬂdzsofbabd)&g. One of
the following electric appliances does not obey heating effect of *

(A)  Pp* fuse

(B) ef bulb

(C) I @ Bt electric iron box

(D) JdPexdeeste refrigerator



10. 85 B3R IPNIT drexd Nabahd, e odaerdad. The diagram is

applicable to which rule *
+V V V V=—

STETR TN
Y
X R Y + - K
—®—0
+’V‘_

(A) 3908 Qobadh Faraday law

(B) £ Sabay Ohms law

(C) XPuR svRRes Bue Aabad Heating effect of Joules law
(D) worty ®2) 8% Qabad Right hand thumb rule

11. 12V 23550033 8R0S OB Doy SWS 2C e8a3e3nR0 30dmen
S8BT 3w How much work is done in moving a charge of 2C across

two ponts having a potential difference 12V ? *
(A) 24J
(B) 6J
(C) 14J
(D) 10J

12. 9@ wozmd S. | @393 S.1 Unit of electric current is *
(A) es0d0ho* Ampere
(B) 3pwoxw* Coulomb
(C) &&* Ohm
(D) &aF eesc® Ohm meter

13. Bee3R) 9BL0DIDI 9031 factors on which resistance of the

conductor depends are *
(A) @333 wug On its length(l)



(B) o®33 ©33e0d On its cross sectional area (A)
(C) B33 @93)33 rdea On the nature of the material
(D) —o®33 e Temperature

(E) edI owdpe All the above

14. cl’)cd)zsa‘ zwi N 3030 O3 dmdga@dd.The filament of an electric

bulb is made up of *
(A) oo 3od Aluminium wire

(B) @)@ Sod Copper wire
(C) esorf & Bo8 Tungsten wire

(D) e So8 Fuse wire

15. CReEBNYSY 363 ZDTO eelATT *

[ 23230030 23¢0 23¢3 0o NTI3 T3.

Voltage is different in every parts of the circuit

I BOONIW AT;3* 2,0T3¢ D€3 983 T3

Current is same in every parts of the circuit

N | 2300030 2,0T3¢ O¢38 YB3 3.

Voltage is same in every parts of the circuit

v BDODIT ATIV;3° 23¢T 23¢8 0 NBIZB T

Current is different in every parts of the circuit

ARPYNFS) IDOIHT BCLFNYD
The correct statements are

(A) 1&ll

(B) &Il

(C) &IV

(D) 1&IV

16.08)mee3e3NY BOST BRI 0ed TS FoBST MBI ~---------
o@D The property of the conductor which resist the flow of charges

is called--—---—-—-- *
(A) AR NIe033 Electric volt

(B) esodeado® Ampere
(C) dwed Resisatance
(D) Ady=* B3 Electricity



17.20Q &HA) 4Q Teeqd TeoODT TR DoBaNY) 6V 3 e, Beedd,
BReBAT.TIMBT,0BOTY T3V IWS Be® o), ? Two

resistors having the resistance 20Q and 4Q respectively are connected
to 6V battery. calculate the total current flowing in the circuit *

(A)  24A
(B) 0.25A
(C) 25A
(D) 2.4A

18. & evaadeeN JWR,0BVTY G S030hRY, eelb Fb The

way of connecting electrical fuse in a domestic circuit is *
(A) €3 series

(B) 50033 Beeds parallel
(C) o3& 1t both
(D) S @eJTr out side the house

19. c‘.’)d)éac md)c;%ﬂj Swee &3 S.I Unit of electric power is *
(A) 259 Joule
(B) @t Watt
(C) £&a* Ohm
(D) Ipeesf Volt

20.7)z0v8 I DHoBOBO IS LVBBTENTIY BVBdeeNTE
00T Jdres The correct way of using electrical appliances in

domestic electric circuit is *
(A) DS BTN ¥, ITe3abhO FomdebIwd Connecting
electrical appliances in series
(B) 880W mdoc%&f)d%a‘ QUBBTEISIY SA ci')doasa‘ B)DBT OBLTO

eLa03eeNDIT. using an electrical appliance of 880 W power
in 5A electric circuit

(C) Bway PRI, AW LSBTV Feyeo3TeN JoBSEDITD..
Connecting main fuse to electrical appliances in parallel

(D) 2KW méac;sé?d cf)d)aa‘ eméﬁdemdg( 5A ci')doasa‘ GUIARL N
0BT evBodeeNLPHTD. using an electrical appliance of 2
KW power in 5A electric circuit



eﬂméod)—1 3
cl’)ci%é@)mad 50030 DOHTINK

Magnetic effects of Electric current
1.250ed% W Fpee3od’ NYY AT, wPYBY / Commercial electric

motors do not use
A. BT 5203 BDerWT* R, SDHAWIBT / an electromagnet to

rotate the armature
B. SHhz) 698 DT DRI, BeNDHST / a soft iron core on

which the coil is wound
C. 2933 5203y Behecdo’ B, SDNWIBT / a permanent magnet

to rotate the armature
D. B BB em3BO B8 B Fosd0d WP DAAPDLII
/ effectively the large number of turns of conducting wire in the
current carrying coil
2. QRYNYY Swe B TePS oY ? / Choose the incorrect statement
A. B DTEDI3DS ToBET DS 5903Ze3)T DB, SPobey o iy
323 0% QaLaDSIY ev@adeeNSwerd@d. / the right hand thumb

rule is used to find the direction of magnetic field due to current
carrying conductors

B. 20380 2.8 AR R B3R, B3 1/50 FB0BT WBLIHADIT /

India the AC changes direction after every 1/50 second
C. Je3 I Srie ,Badyerad W Erie DS &S SFSTS0TT, Jed

AT 0T B3SO BODBT.BaIerod TS FS SoeSHDY
33 08,3 BB / the difference between the direct and

alternating currents is that the direct current always flows in one
direction but the alternating current reversed its direction
periodically

D. 038 I Fmoms BE R, 3Vaben FLoNS werty oS,

WYDE9T./Fleming's right hand rule is a sample rule to know the
direction of induced current

3. W03 VT BV @aerod BT Bwend esy3odw,/ The

frequency of the AC current in India is



A. 50 Hz
B. 75 Hz
C. 100 Hz
D. 25 Hz

4. ‘f)d%sac DOBOT DTFISMN WFDB TS / The Safety device used in

an electrical circuit is
A. @&)§wo‘ / Ammeter

B. 0_53’/9656 / Fuse
C. Dadwee T3 / Rheostat
D. &5 / Switch

5. c:)Ci)asGG Seee3o030 OB OTBeNwoN So0beATFoDES o / The parts in

the motor which acts as a commutator are
A. eszdes3o® / Armature

B. ®023nx / Brushes
C. 3031y / Magnets
D. 283 evorbonyy / Split rings

6. SIS FoeIHAY S, D3I, WBIWI B / The current which

changes its direction in equal intervals of time is
A. SdATY & / Static current

B. @adecad c;’)cbaga‘ / Alternative current
C. mda’)zmé & / Direct current
D. oo ©e / None of these

7. 32e 3o30h A3, / The potential of a live wire is

A. 5V
B. 220V
C.1V

D. Kffaﬁd / Zero
8. 32e3 3o3ad ﬁraaéoi)aosg / The colour of live wire is
A. aosgc‘:)g / Colourless
B. 8@2) / Black
C. @D / Green



D. So®) / Red

9.7e3 TUBBBO IS FBHLITIN 50333 YRy, FAVWE Joha /

The rule which indicates the magnetic field in a current carrying
straight conductor is

A. worty 33 8% dadbad / Right hand thumb rule

B. gons oBdriy Aabed / Fleming's Left —hand rule
C. gons woriy Aabad / Fleming's right —hand rule
D.

Rira@ o / Screw rule

10.83 038, AdedBDeT Foo3, 3 363 (esem@ -360)Q) BeoBZeDowaN VBT,
DRl 6N seo3geld B BA), / A positively charged particle (alpha-

particle) projected towards west is deflected towards north by a
magnetic field.The direction of magnetic field is
A. 3363 sBNDHIT / towards south

B. @033 3BNDHST / towards- west
C. e, HeNS3 / upward
D. 3¥3dwazmeNdH3d 7 downward

11. MBY30 WPDS B DorBwB Sodad S / The energy

capacity of the domestic circuit wiringis ____
A. 25A
B. 15A
C.5A
D. 50 A

12. 2oe3e r’oa@égw N 55&@6&2 d)ododef)ﬁ ci’)d)zsa‘ / The Current in the

circuit during a short circuitis____
A. 3830359NDH3T 7/ Low

B. el e / None of these
C. 3933 / High
D. d0zNDST / Stable

13. AR TyToBB, GVTY DV WHDS TIFIDY, ety 7 The

device used for producing electric current ia called a
A. B ¥J5 / generator



B. ©9ge30° / ammeter
C. mye),Jeedeesc’ / galvanometer
D. 3»ee390° / motor

14.3B, 0B (Dot3’s JEREEF ) D) wI0° eheed JoT IW)
USBTENYY, TS DTZSe Faba3orT / The most important safety

method for protecting home appliances from short circuit or
overloading is by ..............
A. 308 e JSoazBere YD /Earthing

B. r-\):ei')ejééo‘ m}é& WP / Use of stabilizers
C. —-’c,gjazsm‘ WPLDID / Use of fuse
D. cDCS.)ZSaG QEE3T® WB)RD / Use of electric metre

15. 2390300 JZexs 308 D) B BodMY NJwe03T /In India the

potential difference between live wire and neutral wire is .................
A. 240V
B. 250V
C. 220V
D. 280V

16. ¢dp Sode Sodah TeD3D 26 / The insulation colour of earth wire
A. @A / green
B. 3) / black
C. e® / blue

D. 3o®) / red

17. 3633’5 3030 3B / The potential of a neutral wire is

A. 440V
B. 100V
C. 220V
D.0V

18. JpJoady¥ IO Boo3Bed Q) VTV 003 FeFwo3ode ST /

magnetic field in the solenoid is as same in the magnetic field of -—--
A. 9% 203 / horse shoe magnet

B. <08 3203 / magnetic needle



C. 8 awdp / all of these
D. Bo@z003 / bar magnet

19. DoBOBY IWET HVBISDRY, B3 TP VYD TBS / The

device used detect the presence electric current in the circuit | s-—— *
A. BRI / generator

B. Zeee390° / motor
C. Bp° / fuse
D. my0),pecdeesc® / galvanometer

20. 0372088 B3abRY, AW BabTYN BOBSWS TS / The device

which converts mechanical energy into electrical energy is -—-- *
A. cDCS.)ZSaG Qee30® / electric meter

B. @d;3&ee / dynamo
C. cl’)ci%a‘ 2eeI0° / electric motor

D. ©0dc9,03 / magnet



T3S 14

TSOH STTOILL
The Sources of Energy

1. 23,0% edor 2.0 naes / One of the properties of biogas
A. 93T o BFI3 B, /  Its heating capacity is high
B. e0DAToN 220N, euYRI3E / Leaves residue like ash
C. 933 BenR B33 wdod3S / It burns with smoke
D. 9333 T B3 Tovad / Its heating capacity is low
2. PTVBF0* & W D3, 4T TFR),, WO, W), WPDTIZ9,8.0F0T3,9Td
/ The inner wall of the solar cooker is painted black because this
A BITI, JdPDIen  / reflects light
B. 32, MR, 3330, GCDFRL, / absorbs more heat
C. 30, TWANRT, 3BNE,e / prevents from rusting
D. B¥ITETONT I, TCORTORED / converges solar radiations
3.9 ¥, 0PHT) 03D YOPIT ©Feee), / Which of the following
is not a
characteristics of a good energy source
A.e9T3) )8 33T TD300Ed CITIe00 TIje3sT0dN €98 BeD,, TOR
300323¢®./Does a
large amount of work per unit volume or mass
B.RY®2Ie0N 3B 03023¢w /easily available
C.ROFN JONBA) aNI), NI A3se00n23¢3 / Easy to store
and transport
D.3352300 0300 N3L3CB / Expensive
4.233d% 9OT I §¥é3F / The main component of biogas

A.eQCGK® / Methane
B. To0ER® Ty €37,4C3° / Carbon dioxide



C.3;BR%°* / Hydrogen

D.&B s R340 / Hydrogen sulphide
5.830) 3D BDHoDTF, FoUozendes F°0 BB, 30N / The part of the
solar

cooker that causes the green house effect
A. BENRABRPR PADST TR, 200, / Black colour painted into the box
B. V¥ Fy3xOTT,N WFADTW T3,8 / A mirror used for light

reflection
C. BB, Fe0oN WFATW MRS @R / Glass board used as a lid
D. RPTBT,I€ BRT 23023, / Solar cooker's outer lid

6.93¢ FRD VORIV DT 3303 B /The least polluting source of energy

A.SRs3L0D 33, / Nuclear energy
B.o0aR,, JT3053° JB, / Thermal power energy
C.A°T I3, / Solar energy
D.23eNn3e R, J3, / Geothermal energy
7. 0DOIZNL 0T ATWIs3° NI, WIN IRT, 03 NP oD 3¢ / Optimal

wind speed for power generation from wind mills
A.58..20¢ /mo /5 km/hr
B.10 8.233¢ /1O /10 km/hr
C.15 3.ed3¢ /IO /15km/hr
D. 35 3.eJ2¢ /o /35km/hr
8.2300D DD eV, FRART JINY 903D e / The ultimate source

of forms of energy on the earth

A3 7 Water

B.R0ODE / Sun
C.OTEDOINO 7 Uranium

D.BLHONPT YOI /Fossil fuel
9.83R0DFIS), VRBINBoonI Mo &)ei0e0ts 3311 Fo00wand 303

/ The process of the enormous amount of energy released in the sun



A BRIDEFIDS TARBOT BB3303 /The combustion process of coal in

the sun
B. OVR,, 23;23T ITWFS 30 /Thermal nuclear fission reaction
C. 233 303 /Decomposition reaction

D. &R 23RT e O 303 / Thermal nuclear fusion reaction
10.5°0FRCINY DI §?é3F / Main component of solar cell

A. ToE®* / Carbon
B.2®Tax" / Silicon
C. 393y / Copper
D.23,0Tox* / Boron
11. Z°0Z 30D, ATW;3° F3.0H™e,N BVEPIF I TGS / Which of the

following device converts solar energy into electrical energy
A. A°T 981 2,€3 / Solar cooker
B.A2T Bad / Solar furnace
C.A°T0 &©30RTF / Solar water heater
D.x°0Ee¢3 / Solar cell
12.00&R,, ATWI;3° T, RNONF'E) YR QOGS / Fuel used in thermal power

plant

A. AC3y / water

B.03003ODO / Uranium

C.2%4e)T T0d / Bio mass

D.Z3) 3. / Coal
13.7oN0NY 0T I3, I, W0 IFNY) / Types of energy production from oceans

A.002), 038 a3, 93N 33 / Tidal energy and wave energy

B.o02),C 338, 03, 23;28T 3B, / Tidal energy and Nuclear energy

C.OBNY 3B, DI, 23;23T 33, / Wave energy and Nuclear energy

D.moN3 R, J3, 23, Va3~ JF, / Ocean thermal energy and wind energy)
14.9%9 0T ONTF 3.0 tDRONY R, WY TR N30T . /The
need to use non-conventional sources of energy

A 2[R0 AR,LE T8 0D / To prevent population explosion)



B.&9R0 0o ONT 330D BFesr / For the protection of non-conventional

energy)
C.330D 7,83, TOTTF, / To the solution of the energy crisis)

D.3Z0OD T30, RyR,A) / To create an energy crisis)
15.8¢30 I N3 330 3590 / Source of non-renewable energy

A. 203 / Wood

B. A®T33 / Solar energy

C. BPABNPT YOS / Fossil fue

D. B33 3, / Wind energy
16. APV RO IR TR, WAACTR), KWODH ) odiesven WFRIFHD, /A

solar water heater cannot be used to get hot water on
A 22DT DI / a sunny day
B. BRCBTIE DS/ a cloudy day
C. ABOD DI /ahot day

D. 230me¥od DS / a windy day
17. 83 P NI ZHNF ) 03307 34edT TWje3;00d0 e3TTH,

N TIBIBODH ), /Which

of the following is not an example of a bio-mass energy source
A.XPTS / Wood

B. @C20T° €9:)©> / Gobar gas
C. S53L0D I3, / Nuclear energy
D. T / Coal
18. 8323, ne'R), 3VINT ) B¢V N SR NET BB DPO[N,
NIO3RCNTNT AT toneT / Which of the following power plant directly
used natural source of energy to rotate turbines
A. SO, )T053° A9, e33 / Thermal power plant
B. 2@edT3053°* Me,e3T / hydro electric power plant
C. BT ITVs3® Mo 23C  / Nuclear power plant
D. A3 )T3053° me,e33 / Solar power plant
19. YN, 0350 B> BOI TR £200350NT3 / which of the following is eco-
friendly power plant

A. SO, eIT3053° A0 e3C / Thermal power plant



B. 25®eJT305000M@T / hydro electric power plant
C. 233edT I A 3T / Bio gas plant
D. ®BT30€ T3, M9,e30 / Nuclear power plant
20. BAV) DS FOTHONT, TV 9 / The gas which causes
greenhouse effect
A. FOWE D RSC0TF, 4T / Carbon monoxide
B. 3830002 B8;0300F,4C3° /Nitrogen dioxide
C. A3 0° B;0350F,4° / Sulphur dioxide
D. TOVE® B30T, 4T / carbon dioxide



P63 15 ) 16
R, BOTT, B, BNFB BoBRR,LNY DT ISFB/

Our Environment, Management of Natural

Resources
1. &LTMeeR® RO BRVITE BTBTEDNY 6085?5/ The number of

Oxygen atoms present in an Ozone molecule.
A) 2
B) 3
C) 4
D) 1
2. Lwer® B BB, T SoT¢ea/Depletion of ozone is due to

A) BoER® Syered ;t¥/Carbon monoxide

B) egien’/Methane

C) éramedraec,—-’gjaedfae&w%‘af\)/Chlorofluorocarbons
D) 3eL3x933NR)/Pesticides.

3. TROLEOT T B8 Ted), BZWBDT I3IeTY STENMLOT YLOLIITHE

2059 /High energy ultraviolet rays emitted by the sun are responsible for

increased incidence of
A) D@ec0oB3/Colour blindness

B) 29,380e30 Faéd‘\)oe/Lung cancer
C) B3 SodbeIriwy/Heart diseases
D) 23T B3 0°/Skin cancer
4. QU QT BT3B BOBANHW ,05°.Q. BB HT NYRY, SO
85 33900 HB0TWT. /It is mandatory to produce CFC free refrigerators by all

Fridge manufacturers, because

A) o0 dm@ééddg( 3doben/To prevent air pollution.
B) 3%) aed= B, Sadben/To reduce noise pollution.



C) R,05°.d ©UNY Ty, BHareren/ To reduce the CFC

gases
D) XS &) eveBaabhIIerden/To save the electricity.

5. 8 3YNS WFBO 25,8 JIFe3JFaderdad SWSY, M3, /Identify the bio-

degradable substance in the following.

6. 23R DINYY Sodhod BHTHORTY BBEI BoRDADPI TS, FoTea/ The
reason for finding traces of DDT in the Mother’s breast milk in recent days is.
A) LBwer’ BWVTW J9B/0zone depletion
B) ®©AD DS @O/ Greenhouse effects
C) @0l dn@ﬁas/Air pollution
D) 23408 RoTLE /Biomagnification
7. LBeeRF BEOT FBSY, SBoheY e IDTOTBTT F/The step

you should follow to prevent the Ozone from depletion.
A) DoBINY MO ¥3/Increased usage of vehicles

B) 3,mo0ea3€9/ Industrialisation

C) Q,05°.4 Jw3 Be3Z0NY ?..)%3801)5.3( V3eBDJYT/ Encourage the usage

of CFC free freezers and coolers.



D) 3¢3520N% &)%3301)5‘):( VBeBDZTW /Encourage the usage of freezers and
coolers.

8. oaasm@ﬁd (S RIAN APV ) E.*de:'c)zs DR ddzs Redne ToTZmdw 0
PoES &Dgoémﬁd/These Tribal community of Rajasthan believed that
protection of Forest and wildlife is sacred for them.

A) 25953 /Jadhav

B) 239¢3°/Jat

C) VA&edd/Bhishnoi
D) Togees/Rathod

9. 3p,e BorReRNY SET ﬁ@%’/The Chipko movement has taken place in.
A) ansm@ﬁd ¢3;2)0°/ Jaipur of Rajasthan
B) 3m0fe3dd e e/ Mysuru of Karnataka
C) d)mm%d NoNn@3/Nagpur of Maharashtra
D) eV33 BT3B S, e/ Tehri-Garhwal of Uttar Pradesh

10. 03,3 Ted Datpedd Ba, BeaTe Iy FB BFIT/Amrita Devi

Bishnoi sacrificed her life in the cause of protection of
A) 83exd) T /Khejri trees

B) 0&F TN /Sal trees
C) 8t X @enesen/Alpine meadows
D) 3enodd TN /Sandalwood trees

11.23903 5260 & &) F0TZHEMN QDD &3/ The award given by
Govt Of India for conservation of wildlife is.
A) @o0@ToN BNG B3R/ Panduranga hegade award
B) <epe ©9¢3,0° BBA/ Medha Patkar award
C) DOTT® o) WBMME ©,BA)/Sunder Lal Bahuguna award
)

D @d)e)é zec) ?f)—-d\fsaaeob 5_)25&/ Amrita Devi Bishnoi award



12.1DR00F B ST IO SIS FTer0* ITpEST WKNSIS ST
ﬁ?%c_ii)d)dc_\i& QB IBTW 3BV /The protest movement organized against
raising the height of the Sardar Sarovar Dam on the river Narmada in Guijrat is.
A) 33308 e80TeR/Chipko Movement
B) STNEW WIPL e30T3eS/Narmada Bachavo Movement
C) morTe 3Iocyee 30T /Ganga Bachavo Movement
D) NPT 22F0cye 3030 /Gujrath bachavo Movement

13.80007° DR FeOT® M0 YUSI DedTBeead PSS Borrdd
03&3 /The Khadins and Nadis traditional water harvesting system exists in

A Oam_aﬁ/rajasthan

C &’)d).) &3.) Z0d ed/Jammu and Kashmir

)
B) dsmmw /Maharashtra
)
D) &

JdQES/Madhyapradesh
14.3700¢ 63830 S0RVDS Q0B ed) B01W I3/ The traditional water
harvesting system found in Kamataka is.
A) 2390T90M %R /Bandharas
B) ©%0° 2@ &;3%/Ahars and Pynes
C) RTBonix/Surangams
D) 3E3M)/Kattas
15.Q¢0 ToTZHEDY ey RDTOS a3/ The practice to be followed to
conserve water is
A) DIab e7eS3edod Seed DG ol dedh Beed Torh BHd ees
0T 0oB BIBIJ)WD. /To let Rain water from roof to drain out on road.
B) ®ed) QeTRY, IS I, SOMYRY, 3%’ YT/ Developing plant breeds that
consume less water
C) Tew)en IO &’)edﬁg( 00D DBDIRD). /leaving the tap water to flow

while brushing.

D) D% 0 Eecdy) Sye@IYD./Rain water harvesting



16.3596° @d&"&) N SRV 0o/ The Sal forests are found in.

A) 0g3,i3e2*/Andhra Pradesh

B) 309f&38/Karnataka

C o_o)deZ‘/Madhyapradesh

)
)
) &
D) @30 ome¥/West Bengal

17 2% 063Ny R WrhdResed I 0BT

A) 23018 @35?330&)@ 3 ReezarhHST. /Rehabilitation on large scale
should be under taken.

B) B BT EB0 ToTERAT BEITRY, IdeeNTIezordBT. /Involves
investment of huge amount of public money.

C) W@ FHoed TEY, T3 D) Ve SyIFSaD FoBwerbSBE. /Causes

deforestation and loss of biodiversity on large scale.

D) e dVFPp/All the above.

18.85 BYNIZYNPY odrecs rHoRned 25,8 IFEII wemordad SN
D93, wEP0BT? /which of the following groups contains only biodegradable
items
A) BEIS AT, Bes® DR) Me’d)/Fruit peels, cake and glass
B) @ew, B3B3 R) o)/ Grass, DDT and flowers
C) Bez*, DT @) TeY/Cake, wood and grass.

D) e, Bes® @) @S/ Grass, cake and plastics.
19.580%3 &b &I oBT/ The environmental friendly act is.
A) DINTY T30ex d@ﬁrﬁ%}m WLPDJYW. /Using LED bulbs in homes
B) TSR3 ToOrtodhad), YT SohdB SoBIT), WHPDIWD. /Using
private vehicle more rather than public transport.
C) @B SIINY NOT 2¥S./Using plastic wares at maximum extent.
D) VDB D) deedReBBTE BN FoBIOS DTNYRY,

8@05.1)@(3.)./Cutting down trees in the forest for firewood and furniture’s.



20.8D) DI BOToB, TOTEHIDITW D)BVBDTW I/ The principal greenhouse
gas is.
A) S edRR° ;088 T/ Nitrogen di oxide
B) S0° @, 83,/ Sulpher di oxide.
C) Boex* & 88 ,T/Carbon di oxide.

D) Sowex® d)‘e)mgwéae/Carbon monoxide.



